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S WMol 22l MA +=5
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= 30,000
Al 70,000
01 M=4l 100,000 73,000 27,000
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Al 70,000
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01 At2telt] 39,900 39,780 120
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S THLHE D
I Mol 22l MA +=5
o 2R 2l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 14,400
405 AtatE = 1,620 1,620 0
== 486
Al 1,134
01 AL =S F=H 1,620 1,620 0
ouLAuF=H JIAM =S 1,620
& 486
Al 1,134
g AlolB=E 29 18,000 20,000 22,000
201 eet23| 18,000 20,000 22,000
01 AtR2t2|HI 18,000 20,000 A2,000
oRlgel AIHRE 2 18,000
g ussd dAsSK 29 12,000 18,000 26,000
201 et 3| 12,000 18,000 26,000
01 AtR2tc|bI 12,000 18,000 26,000
onlgel nssd dNSK 24 12,000
olgtel &Hl 2 5,000 10,000 25,000
206 M=l 5,000 10,000 25,000
01 MZH| 5,000 10,000 /5,000
o bl 5,000
oiHl2 s4X& 165,400 300,000 134,600
308 AXIHSOIA 81,000 80,000 1,000
R oblzZsdNABSEX 81,000 80,000 1,000
OSUXMHMRHA (2L ZHIXH) 81,000
403 AXIEHHSAH=201H 84,400 220,000 135,600
03 HHlzZ=48XEEEx 84,400 220,000 /135,600
OogLHE 7Y X AERXES 84,400
ANRSEERQF 243 XY 786,246 721,719 64,527
301 LEIE NS 786,246 721,719 64,527
0 AR=R22a= 786,246 721,719 64,527
OA=2RY &3 = 786,246
= Qige ZEAE WA 70,000 70,000 0
= 21,000
Al 49,000
401 Al HIZ S 0HbI 70,000 70,000 0
=S 21,000
Al 49,000
01 AlZ8| 70,000 70,000 0
= g Z2AE WA 70,000
[ 21,000
Al 49,000
HYSSZHI (WD) 80,800 85,320 24,520
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Ho: HYSHAH|(HHRHX D)
S2l: J1=2ZHI(TH o) (S & 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
D12 (T ok D 80,800 85,320 A4,520
Jl2Z0I(X ot ) 80,800 85,320 A4,520
201 e 58,696 62,040 N3,344
01 AlR221H 33,6% 37,040 N3,344
CEEIZE=1] 16,848
o3z 16,848
02 22| 25,000 25,000 0
03322 ¢ AA 25,000
202 o1t 17,784 19,080 1,296
01 2Uoit 17,784 19,080 1,29
OJI=2YRER 0| 17,784
203 PR TR 4,320 4,200 120
04 PASHALTA| 4,320 4,200 120
ORA2YY2ETY|
360,000 128 4,320
THoH 2 THL ol 4,212,000 4,174,000 38,000
LH=H2HXI & (e erE D) 4,212,000 4,174,000 38,000
221012 X 4,212,000 4,174,000 38,000
702 0IBEE2 4,212,000 4,174,000 38,000
01 JI2xES 4,212,000 4,174,000 38,000
OoNzerIz AN 4,212,000




